MP CEX 125

PUMPS

by Gardner Denver

The CFX 125 316 stainless steel centrifugal pump is ideal for hard-to-handle

applications in the marine, commercial, and industrial markets.

All wetted components are 316 investment cast stainless steel providing
superior corrosion resistance when pumping chemical compounds. A carbon
/ ceramic / Viton bellows shaft seal is standard with optional seals available
on request. The CFX 125 model is available with 1-1/4” x 1" NPT port

configurations. Pump rotation in 90° increments.

SPECIFICATIONS:

Suction And Discharge 1-1/4" NPT x 1" NPT

Materials Of Construction 316 stainless steel

Flow Up to 80 GPM

Head Feet Up to 87"

Impeller 4.76" 316 stainless steel enclosed

(investment cast)

Drive Options Close coupled 115V AC, Close coupled
230V AC, Pedestal

Seal Carbon / Ceramic / Viton, Carbon /
ceramic / Viton bellows 150 PSI, Special
seals upon request

1-1/4" x 1" End Suction Centrifugal Pump

Application

« Agricultural
« Commercial
« Industrial

* Marine



100
90
80
70
60

£ 50

2 a0
30
20

10

mP

PUMPS

by Gardner Denver

_ MODEL CFX125
SIZE 1.25X1 ENC
B IMP.G 4.76-4.45
4.76 DIA. R [ [ SPEED 3500 RPM
D 5% >
—] 5% - :\
4.45DIA. | 7\“"‘&\ i
™
e S—
0 10 20 30 40 50 60 70
FLOW GPM CN 161013
34800 BENNETT - FRASER, M| 48026-1686
(586) 293-8240 - FAX (586) 293-8469

(800) 563-8006 - www.mppumps.com

80

NPSHr

CFX 125



CFX 125

CUBIC METERS PER HOUR
. 5 10 15
0 76 DIA FFLOW ]
—4-7§ DIA HFLOW ey MODEL FRX 125 & H. FLOW
x 1N 720 53 SIZE 1.25X 1.0 125
B 4’&9“‘ ~ T SPEED 3500 RPM
80 N — bt R e
N i | K 60%
S <1 TN
' N :
b OEEEAR T NPT
L ~. [k DN 1 A 20
L N \\ N \\
(=] D N L 60%
I.fl 60 3 \\ 53% H"‘rﬁ-Aq""/
T N NN
& N / 50 FE
= 50 NELNEFSR VN S 1 115
o S A 2 S X NPSHR
= NPANA A \\‘ _15FI'.
T5HP T TR INCLY 1.50 HP
40 \\ /5%_ 1.25 o 10
N [ o]
Al S 10
30
0 10 20 30 40 50 60 70 80
GALLONS PER MINUTE CN 5198-1

34800 BENNETT - FRASER, MI 48026-1686
MP (586) 293-8240 - FAX (586) 293-8469

CFX 125
(800) 563-8006 - www.mppumps.com

by Gardner Denver

TOTAL HEAD - METERS



CFX 125

CUBIC METERS PER HOUR

0 2 4 6 8
25 || : * |
I - IMODEL FRX 125 & H.FLOW
4.76 DIA. H. FLOW SIZE 1.25X.1.0 5
g | - |SPEED 1750 RPM
4.45 | SN \
m 15 | S \ \ E
E | i \ Bl
T | | \ ﬁ
= | G
B 10 : =
E | 3 Is
! =
i
I L 2
|
5 |
' 4
|
|
0 0
0 10 20 30 40
GALLONS PER MINUTE izl
34800 BENNETT - FRASER, MI 48026-1686
,.,,,,,P (586) 293-8240 - FAX (586) 293-8469 CFx 125

(800) 563-8006 - www.mppumps.com

by Gardner Denver



CFX 125

FRX125-HF
4.76 Impeller

100 - - - =

90 - " 45% 50 1

80 -

70 4= 3150

60 -

50 -

TDH -

40 -
— 2300

30 +

20 +

1
=1

NPSH - FT

p— 1750 RFM

10 4

L
T
o

FLOW - GPM

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CFX 125
by Gardner Denver



CFX 125

m 1" NPT ’-—2‘?1—-
(Ene (P

56 ELECTRIC MOTOR || |
3/4HP, 3450RPM | 3.77
115/230V AC ‘ )

[-
& & CFX 125 WITH AC MOTOR

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CFX 125
by Gardner Denver



CFX 125

o3
o
(e

1" NPT 57—
DISCHARGE—

11/4" NPT
SUCTION

#6 WOODRUFF KEY £E
5/8x5/32 =]

ﬂlp e

{ b

625}

624 | ﬁ
L 30,

L - T )
(4) .375 L
5% >3 THRU HOLES

40

&

CFX 125 PEDESTAL

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CFX 125
by Gardner Denver



mP

PUMPS

by Gardner Denver

CFX 125

CFX 125 WITH AC MOTOR

34800 BENNETT - FRASER, M| 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

ITEM NO. PART NUMEER
21250
21238
35141
35343
35143
35325
35052
35053
35687
34555
36910
36911
35139
21504
34928
21291
21266
12 35159

000 O OO Ln N LN de de de L R —

=5

DESCRIFTION
CAPSCREW 5/14-18x1.13
LOCKWASHER 5/16 X 18
COVER

IMPELLER 24,45
IMPELLER @4.74 HF
IMPELLER @4.76

SEAL ASY:5/8 T-21

SEAL ASY:5/8T-9

SEAL ASY:5/8 T-21
O-RING AS5-568-158
O-RING AS5-568-158
O-RING AS5-568-158
HOUSING

CAP SCREW HH: 1/4-20X5/8

ADP PLT

CAPSCREW 3/8-16X1.13
LOCKWASHER 3/8 X 1/8
ELECTRIC MOTOR 54J

MATERIAL
304 55

304 55

CFBM 53

CFBM 55

CFBM 55

CFaM 55
CCEMNITON
TEFLON
CSC/VITON
VITON

BUNA

EPDM

CFam 55

ZINC PLATED STEEL
ALUMINUM 356 T-6 CAST
304 55

304 55

TEFC

_L_p.—_p‘_.___--__-__h_h=

CFX 125



mpP

PUMPS

by Gardner Denver

CFX 125

CFX 125 PEDESTAL

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

II'EM] NO.
2z
3
4
4
4
5
5
3
&
4
&
7
a
9

(o]

PART NUMBER
21250

21238
35141
34555
36910
36911
35343
35143
35325
35052
35053
35487
3513%
39547
33564
33563

DESCRIPTION
CAPSCREW 5/14-18X1.13
LOCKWASHER 5/16 % 18
COVER
O-RING AS5-568-158
O-RING AS-548-158
O-RING A3-568-158
IMPELLER 4,45
IMPELLER ©4.74 HF
IMPELLER ©4.76
SEAL ASY:5/8 T-21
SEAL ASY:5/8T-9
SEAL ASY:5/8T-21
HOUSING
PEDESTAL ASSEMBLY
LOCKWASHER 1/4"
CAPSCREW 1/4-20X1

MATERIAL
304 55

304 55
CF8M 55
VITOMN
BUNA
EPDM
CFBM 55
CF8M 55
CFBM 35
CCS/VITON
TEFLON
CSC/VITON
CFBM 35

304 53
304 55

CFX 125


http://www.tcpdf.org

